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pirccuc’n' for the following 6 (six) items

Read the following five pPassages gn( answer
the items that follow. Your answers tq these

items should bc based on the passages only

Passage—1

In India, over the last decade or so, labour hag
peen departing agriculture, but is only going to
construction and unregistered manufacturing
which are not markedly better jobs, Services,
where labour tends to be most productive, are
not generating the additional jobs the country
needs. India will need 24 million or go jobs over
the next decade. The new sector, €-commerce,
can at best close only half the jobs gap. Only
those sectors that drive domestic demand such

as health and education can comfortably fill the
other half.

| 1. Which one of the following is best
implied in the passage?

(a) Strong measures need to be taken
to reduce the rural to wurban
migration of labour.

(b) The working condition in
construction and unregistered
manufacturing needs to be
improved.

(c) Service sector has been reducing
the problem of unemployment.

(d) Increased social sector spending

is imperative for large-scale job
creation.
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Passage—2

In India, the current focus on the right to
privacy is based on some new realities of the
digital age. A right is a substantive right only if
it works in all situations, and for everyone.
A right to free expression for an individual
about her exploitation, for instance, is
meaningless without actual availability of
security that guarantees that private force
cannot be used to thwart this right. The role of
the State, therefore, is not just to abstain from
preventing rightful free expression, but also to
actively ensure that private parties are not able
to block it.

2. On the basis of the above passage, the
following assumptions have been made :

1. State should have some
institutions to ensure its

appropriate role in a digital society.

2. State should ensure that private
parties do not violate the citizens’
right to privacy.

3. Digital economy is not compatible
with the idea of not violating the
citizens’ privacy.

Which of the above assumptions is/are
valid?

(a) 1 and 2
(b) 3 only
(c) 1 and 3

(d) 2 only
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Passage—3

bi t ironi to think of investing in risky assets as
iggest ironies arg ;

one of i gg. und water jg that €xtremely volatile and value eroding, We also
jt comes from rivers and other wetlangs, ye, .,

A dislike fluctuating returns and the loss of
js seen as divorced from them, While Water ig

control of investment. We think our money is
used @8 @ TESOUrce, public policy g not

—r ) best left idle, unproductive but safe. There is
always Brasp that it is a part of the natura)

no asset that is risk-free. We could lose our
scosystem. Efforts at engineering water Systems

jobs, our homes can lose value, our banks
are thus efforts at augmenting water Si-lpply

rather than. strengthening  the Capacities of government can collapse and companies we
ecological systems.

chose fondly may cease to exist. But we cannot
live life assuming that all these extreme events
are waiting to happen, and all at the same time.
All these extreme forms of risks we know will

can go bankrupt, our bonds can dcfaﬁlt, the

3. Which one of the follbwing is the most

logical and rational inference that

can be made from the above passage?

gD . not manifest at the same time.
y f

!

(@ ﬁjverslf‘}?‘.i Lother wetlands should/
; !\zznveirg;:ted under Rams?f- 4. Which one of the following statements
/ best implies the suggestion given by
(b) Engineering water systems should ﬁ i the author of the passage?
be  modernized and  further / el |
augmented. j (a) Distribute your wealth across

Y different kinds of assets so that

(c) Wetlands need to be reinforced as : your risks would be minimized.

more than just open sources of

water. : : ’ (b) Risk-taking behaviour should be
4y He Fa
i %A a t of
(d) Water supply ‘should not l?c free of / neces‘sar_?r o il A
LoV gy / personality if you want to generate
cost so as to prevent its misuse or , )
. wealth.
overuse. A
N 2 L (c) While making investments, find a
‘Passage—4

trustworthy asset management
organization which would manage
o your wealth for you.

Asset allocation' is the = most important
investment - decision we will ever make, and f./
sadly, most of us do not give that decision the /-
importance it deserves. We are adamant about

(cf] 'You should know that investing
Seeking predictability with our future. We tend ‘ ' your money is a risky business,

HGY-D-LKUV/50A 5 [P.T.O.
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Passage—5

gh most of the Genetically Modified (GM)
g Cultivated ‘nov_v are genetically engineered
Eor . single trait, in future, crops genetically
o cinee red for 'more than one trait will be the
o Thus, biotechnology’s role in agriculture
nod the regulation of the same cannot be
undcrstood solely mT_hc context of the current
| eration of GM croPs. Instead, there is a need
ake 8 comprehensive look, taking into ac‘count
aspects, ?ncluding socio-economic

so that the potential of the technology
harnessed < while minimizing negative
©apacts. Given ﬂ?e .importance of biotechnology
- jeveloping varieties that can help in climate
_hange mitigation and adaptation, not using
viotechnology as a part of the climate change
ction plan cannot be  an option. Domestic
regulation of biotechnology cannot be viewed in

gC

isolation of trade policy and obligations under

St

sarious international treaties and conventions. BE

5. With reference to the above passage, thel )

following assumptions have been made :

1. Biotechnology regulation is
evolving process.
Participation of people is needed
in policy decisions
biotechnology regulation.
Biotechnology regulation should
take into account socio-economic’’
aspects in decision-making.
Wider involvement of political
executive in biotechnology regulation
improves its effectiveness in dealing
with the country’s trade policies and

| international obligations.

an

regarding

il
are

¢ Which of the above assumptions
(@ 1,2 and 4 only s

| | )
(b) ' 1 and 3, only /| 1)
(c)i 2,73 and 4)0111)‘(
(@ 1,2, 3 and 4!
S
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6. Which one of the following statements
best implies the crux of the passage?
(a) Precautionary principle is not given
importance in current debate on
developing GM crops.
(b) Biotechnology is not currently used
' "in dlimate 'change mitigation and
adaptation mechanisms.

(c) Biotechnology’s role is not confined

f to the current - priorities of
developing GM crops.

(d) The negative - impacts of
biotechnology are not properly
understogd.

/
. 7. How many zeroes are there at the end of
the folloyving -product?
1x5x10x 15%x20x25x% 30
{ % 35x40%x45x 50%x 55%x 60
(a) 10 (b) 12
(c), 14 (d) 15

8. Let XYZ be a three-digit number, where
'+ (X +Y +2) is not a multiple of 3. Then
(XYZ +YZX + ZXY) is not divisible by,

(@ ® 9

3
© 37 (d) (X+Y +Z)

9. Let p, g, 7 and /s bej-natural numbers
such that »

p-2016=q+2017 = r-2018 =s+2019

Which one of the following is the largest
natural number?

(@@ p
c) r

(b) q
(d) s

10. How many five-digit prime numbers can
be obtained by using all the digits 1, 2,
3, 4 and 5 without repetition of digits?

(a) Zero (b) One
(c) Nine (d) Ten

[ P.T.O,
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11. In the sum 14. One page is torn from a | e
S ages are numbered 11 A

= SislRe . anner starting from the first pag o
’r[‘nhe sum of the numbers on

€
remaining pages is 195. The torn pag

for which digit does the symbo] @ gtangs

(@) 2 contains which of the following
numbers?
3
& (@ 5,6
. ®) 7,8
(d 5 (c) 9,10
(d 11, 12
12. If you have two straight sticks of len : )
7-5 feet and 3-25 feet, what is gﬂ?el 15. Consider the foll-owmg arrax.lgement that
minimum length can you measure? has some missing letters :
abab_b_bcb_dcdcded_d
0-05 foot
“ The missing letters which complete the
(b) 0-25 foot arrangement are
a, b, c, d
{c) 1 foot (@)
(b) a, b, d,e

(d) 325 feet

(c) a, c,c,e
(d b,c d, e
13. A simple mathematical operation in each
number of the sequence 14, 18, 20, 24,
30, 32, ... results in a sequence with 16. Let A3BC and DE2F be

four-digit

respect to prime numbers. Which one of numbers where each letter represents a

the following is the next number in the different digit greater than 3. If the sum

sequence? of the numbers is 15902, then what is
the difference between the values of
A and D?

(a) 34
(@ 1

(b) 36
(b) 2

(c) 38 © 3

(d) 40 (d) 4

HGY-D-LxUV/50A 9
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47 Two Statements S1 angq g '

2 - 1 Gy
pelow followed by a Questiona.re 8lven 19. A family of two gencrations consisting of

Sl :’I‘here are not more tha.n tw six members P’ Qn R; S’ T and U has
on any page of a Sl-pageo Teures three males and three females. There

52 : There is at least one fj b are two married couples and two
page. '8iire on every unmarried siblings. U is P’s daughter
Question : and Q is Rs mother-in-law. T is an

unmarried male and Sis a male. Which
one of the following is correct?

Are there more than 100
f .
that book? s

Which one of the following js correct in
respect of the above Statements and the (a) R is U’s husband.
Question?

(a) Both S1 and S2 are sufficient to

answer the Question, but neither B it b
S1 alone nor S2 alone ig sufficient
to answer the Question. (c) S is unmarried
c i
(b) S1 alone is sufficient to answer the
Question.

() S1 and S2 together are not (d) -None of the above

sufficient to answer the Question,

(d) S2 alone is sufficient to answer the
Question.

20. If in a particular year 12th January is a

Sunday, th hich f the followi
18. Consider the fOllOWing data : . undaay €n whnich one o € 1ollowing
is correct?

Average | Average
marks in | marks in
English Hindi - (a) 15th July is a Sunday if the year is
Girls 9 8 kg
Boys 8 7
Overall average marks 88 x (b) 15th July is a Sunday if the year is

not a leap year.
What is the wvalue of x in the above

table?
_ (c) 12th July is a Sunday if the year is
(@) 7-8 a lea
p year.
(b) 76
c) 7-4 (d) 12th July is not a Sunday if the
(d) 72 year is a leap year.

[P.T.O.




Frafafaa 7 (wm) weiv & forg il :

I Ry U uiw uiedst = gfey oifr oh=del & 4R
M 9T TN % IW AT 39 TS F ATH IW
Fad ¢ yi=ae) T E amutia @R =g

gfedg—1

feht 3w amrgae: =va R) fRef st faw air of
s 99a § Tk 393 forg ety Faw faswey wd
sfuk & (swfq, wq @) @l B A w5
eify et wea PR (FDI) W =& Siel s @)
wivfes FDI 3idate @ft wmg iR it ¥t awn &=
F we § wua g B, S I Aftwen e i
AT I AETIF GROTT | ARR W R 3™ @
g sEa AWt # yaed g% gt §1 fReh
3w =1 & dwifia gerens afom @ 78 R
Faded R IgF srgadi fawwor awfy, senfih
foraror wwen g 7d &, FiT freor % Rg s &
e o A G ) ada R sate w8

1 Bl

21. 39 ui=de % wef #, Frafafes gduromd
FAE T E -

1. ddem # faseh few w s &>
anfie 9 @ o wel Hifa 76 &)

HGY-D-LKUV/59A

of wmﬁﬁmmﬂ'ﬁq#
freh Bt Fram & S0 B oo
TF |

gt < =ife

4. frh fm B ome weE fiw W
arfiys mafewar <A w1fewl

5. fuan wd @ 83 # W@IH WEWE
g e T =TRRT) '

IgE # ¥ - garen/gEarnd Ay
3387

(@ 1,23R4
(b) 1,335
c) 2,435
(d) %ad 3

afede—2

e @ @ R R T B A 9 T
T YTl % reaiies fawm, wgfe vE e
% I % % sEEd B g w1 g ) 5 W 3o
weel # @ st g A { T oo T
I9esY Bl B, SwEt § 9Nl ¥ S« F gEad R
IETEAl 3R 918 § q¥-w 394N g OiE1, T Ll
s & fred B Ren T W T Ty
yiada drem A fRfEl @ v wafaa wxa @ R
S A T FE AR F I Fm| T
el A g8 T g ¥ fifta 9 ¥ ad T h

£
g
F

i

e R e me
B A i P L e




irection® for the following 7 (seven j4

; ems ;
cad the following five passages dd”
: Swer

he

jtems that follow. Your answers to A
es
S should be based on the passages ong e
nly,

Passage—1

orivate investment in general is volatile. Fore;
- : 1gn
rivatc investment 1s more volatile because th
e
vailable investment avenues are significant]
y

reater (i-€ the entire world). Therefore, the

rcsponsibility of providing employment cannot

e left to Foreign Direct Investment (FDI). The
urrent FDI inflows are volatile over time and
cross  sectors and regions, which is a
recessary consequence of their search for the
highest returns. The adverse consequences are
unstable employment and an accentuation of
income and regional inequalities. A probable
positive consequence of foreign investment is
he inflow of new technology and its subsequent
diffusion. However, the technology diffusion is
not at all certain because the existing state of
physical and human capital in India may prove

inadequate for the diffusion.

the

following assumptions have been rpade -

21. With reference to the above passage,

1. Relying on foreign jnvestment in
the long run is not an economically

sound policy.

HGY-D-LKUV/59A
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2. Policies must be undertaken to

reduce volatility in foreign private
investment.

3. Policies must be undertaken to
strengthen

investment.

domestic private

4. Public investment should be given
priority over private investment.

5. Substantial public investment in

education and health should be
undertaken.

Which of the above assumptions is/are
valid?

(@ 1,2 and 4
(b) 1,3 and 5
(c 2,4 and S

(d 3 only
Passage—2

Many opportunities to harness the highly
skewed, seasonal and spatial distribution of
monsoon flows, which occur in a four-month
period from June to Séptembcr annually, have
been lost. Since these few months account for
most of the rainfall and consequent freshwater
availability, the need for holding rainwater in
reservoirs, for subsequently releasing it for use
over the year, is a necessity nobody can afford
to overlook. Climate change will continue to
affect weather . conditions and create water

shortages and excesses. While millions suffer

[ P.T.O.
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droughts and floods, waters in the

» and are

from .
'ounth’s many rnvers flow unuﬁlized
C

d'scharged into the sea every year.

i

22. with reference to the above passage

which of the following could be the most

rational and practical {m lic
o dia? plications

1. Inter-linking of rivers sho
ul
undertaken. s

2. A network of dams ang canals
should be built across the country
for proper distribution of water.

3. Farmers should be provided easy
loans for digging borewells,

4. Usage of water for agriculture
should be regulated by law.

5. Distribution of river water among

regions should be regulated by the
Union Government.

Select the correct answer using the code
given below.

(a 1 and 2

(b) 2,4 and 5
() 1,3 and 4
(d 2,3 and 5

Passage—3

People will invest in education whenever they
are granted the economic freedom to fully enjoy
its benefits. Again, this is for the obvious reason
that the return on education increases as the
level of economic freedom rises. When people,
thanks to lower tax rates, are allowed to retain
Most of the higher income that they gain from
ch incremental level of education, it makes
‘Minent sense to invest in education. On the

H6Y-D-Lkyv /504
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other hand, when the government decides 1o
tax the higher income of educated individuals
at even higher rates, it makes very little sense
to invest in educating oneself further. The same
incentives apply to parents who decide on
whether to invest in their children’s education.

23. With reference to the above passage, the
following assumptions have been made :

1. Lower tax rates in a country
invariably translate into greater
investments in higher education.

2. Investment in the education of
children ensures - their economic
freedom.

3. Economic freedom has a positive
impact on building up human
capital.

Wh.lch of the above assumptions is/are
valid?

(a) "1 Vonly

(b) 2 only

{c) 3 only

(d 1,2 and 3

Passage—4

Our urban bodies cannot possibly ensure
sustainable delivery of water in our cities
unless financing mechanisms are put in place.
Water delivery requires heavy investment in
collecting it from a natural source, treating it
to make it potable, and laying a distribution
network of pipes for delivery to the users. It also
requires investments in sewerage infrastructure
and sewage treatment plants so that the sewers
can carry the wastewater to these plants to
ensure that no untreated sewage is discharged

[ P.T.O.
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(b)

(c)

(d)

25. 394w sf=dk & wed A, Frafafaa gdumomd
A T © 3
1. Fad oft TR € 5@ gnofa amgfd o
ghfira = g §1
2. Wl # v i urefm ogfd @ W
FgEl B WA A g A ¥ FHH
wrfue B

IgE H ¥ PR qEuron/gHurend dy
B/37

(@) Fad 1

(b) Fad 2

(c) 1322

(d I@1,382

gfede—s5

vyid #, oft off I ge wfowa wmR w §
fafraifsa €, aan @y 85 wiawd @a o1 ik ¥
2 R iR fagem B gaw #, & oW 1 |
wraAreRs R aefivn fEda gu, wRa it wer o
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qfady ) %) aRomreTey W 3 TS, S ey g
forremm <) e 7, 1088-2014 % I wgA Uy §
1 o1 Wi 1 T-g 1088-2005 F i Hi oy
Tt 2005-2012 % A TE AT A H TE—d 3
mﬁwﬁmgﬂﬂﬁﬂﬁﬁlﬁmﬁmﬁf"
w0 Prn? Wy @ wa Sen & fF @we FE
Traera, T A Hdt & fomered, B g i
Teq @0 @ ufafda gan & (50% ¥ N AHE) |
R F feh Fdw 50% ¥ off Al =@ IReTREwy,
Ffi-sho Zo do 6 gE I 2002-2007 F 2-4% ¥
ThESE 2007-2012 § 41% & W R T
FR-=mr ¥ fEw afdw 3 2013-2014 #
$25 fafFe % T F gaN; Faras Fia TG 7% §
it o 4 20 A TA | A Gah o TR A g
frrae o1

26. mﬁmwﬂﬁa%mﬁﬁ,ﬁﬂﬁiﬁﬁ@m,
1. mﬁﬁﬁﬁq@aﬁaﬁ"{?ﬁmﬁaﬁ
TrEATeHs 3 AT yitEd TEva Bl

2. st e e A BT A M
FHFA 2 ;

3. WA ¥ e s= g & H-3ael, W
F ugw SR amed, F fau
qed-5@ensll (value chains) H T
H FETEEHa 2| ‘

4. FR-A@ H IA AuF FHd TG |
TS~ o ToT e € '

IR § |/ BH-d gErond qu &7
(@ 133
(b) 2 3R 4
(c) 233
(d) 3 3R 4




|

ack into natu;altOWI:ter bod1es.. If our cities storv is of slow transformation. As a result,
ich enoue eet the entire cost, wate - son i i t uch slower
wer€ T selivered free. They are not ) r poverty reduction in India was ata m ;
could b ) pace during 19882014, compared to China
i and Vietnam. India’s poverty reduction was
what is the most logical and crucial ~ slow during 1988-2005, but during 20052012,
message conyeyed by thi passage? it accelerated drammica]ly——almost three times
(a) Urban local bodies must recover faster than during the earlier period. What did
costs through user charges. India do during this period? Research reveals
p) Urban local bodies are ) that the relative price scenario changed
) enough to meet rtl;::, Cﬁis;gi Sigr"uﬁcantly. (by more than _5.0%) in bi;vogr of
requirements of our cities agriculture in tl_me wa'ke of rising glo .pnces.
i ; This boosted private investments in agriculture
(c) Water 'Shortage In our cities is a . by more than 50%. As a result, agri-GDP
pclrer:imal problem that cannot be growth touched 4-1% during 2007-2012 as
solved.

against 2-4% during 2002-2007. The net

(d) In view of the water crisis in our surplus of agri-trade touched $25 billion in

cities, there is an urgent need to 0013-2014; real farm wages oS¢ by 7% per
limit the population of cities by annum. All this led to unprecedented fall in
adopting an upper limit of poverty.
population size.
. & 26. ‘With reference to the above passage, the
25. With reference to the above passage, the " following assumptions have been made:
following assumptions have been made : R
| Rich citie nl 1. Structural and rural transforma-
e R bl y q 1? Y SCAN FiRCnSHre tion is impossible when farms are
s able delivery of water. inly small and marginal.
2. Sustainable deliv i
. Sryjpol Jmater n 2. A good price incentive can trigger
cities means much more  than investments in agricult
supplying water to households. < y 5 .
Which of the above assumptions is/are 3. India needs to build value chains
valid? for high-value agri-products like
Ereias livestock and horticulture.
(a) 1 only A
(b) 2 onl 4. Higher global prices of agricultural
y commodities are essential for
(¢ Both 1 and 2

India’s poverty reduction.

Which of the above assumptions are
valid?

(d) Neither 1 nor 2

Passage—5

(@ 1and 3
In India, agriculture still engages about half of

its workforce, and about 85 per cent of its farms (b) 2 and 4
are small and marginal. Compared to China
and Vietnam, which have experienced fast
Structural and rural transformation, India’s (d 3 and 4

(c) 2and 3
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27 which one of the following statements

pest reflects the critical message of
the passagC?

(a) India should create large-scale

off-farm rural employment to
reduce poverty in the near future

(b) India should create a large number
of farmer producer companies.

(c) Private investment in agriculture

should be given priority over public
investment.

]

(d) Inclusive agricultural growth is

key to reduce poverty in the near
future.

28, TWO Statements S1 and S2 are given
pelow with regard to four numbers
P, Q, R and S followed by a Question :

S1: R is greater than P as well as Q.
§2: S is not the largest one.
Question :
Among four numbers P, Q, Rand S,
which one is the largest?

Which one of the following is corr:act in

respect of the above Statements and the
Question?

(@ S1 alone’is sﬁfﬁgieﬁ't to answer the
Question.

(b) S2 alone is sufficient to answer the
Question.

c) S1 and S2 together are sufficient to
answer the Question, but neither
S1 alone nor S2 alone is sufficient
to answer the Question.

(d S1 and S2 together are not
sufficient to answer the Question.

HeY-p-Lxyv/50A

19

29. Two Statements S1 and S2 are given

Al

(b)

below followed by a Question

S1 : n is a prime number.

S2 :n leaves a remainder of 1 when
divided by 4.

Question :
If n is a unique natural number
between 10 and 20, then what is n?

Which one of the following is correct in

respect of the above Statements and the
Question?

(a) S1 alone is sufficient to answer the

Question.

g2 alone is sufficient to answer the

Question.

(c) Sl and S2 together are sufficient to
answer the Question, but neither
S1 alone nor S2 alone is sufficient
to answer the Question.

( S1 and S2 together are mot
sufficient to answer the Question.

30. Two Statements S1 and S2 are given

below with regard to two numbers
followed by a Question :

S1 : Their product is 21.

S2 : Their sum is 10.

Question :

What are the two numbers?
Which one of the following is correct in
respect of the above Statements and the
Question?

(a) S1 alone is sufficient to answer the
Question.
(b)

S2 alone is sufficient to answer the

Question. »

(c) Sl and S2 together are sufficient to
answer the Question, but neither
S1 alone nor S2 alone is sufficient
to answer the Question.

(d) S1 gnd S2 together are not
sufficient to answer the Question.

[ P.T.O.
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man walks down the i

ouse straight 25 m(:tre]:,a :::l'lf:rlxd:u()f &
the right and walks 50 metreg ms'to
then he turns towards left and agal?;
walks 25 metres. If his house facagam
the Bast, what is his direction fror;st}t:

32. Two Statementsiare given followed by two
Conclusions :

Statements :°
}
All numbers are divisible by 2.

All numbers are divisible by 3.
Conclusion-I '

All numbers are divisible by 6.
Conclusion-II : |

Allllnumbcrs are divisible by 4.

Which of the above Conclusions
logically follows/follow from the two
given Statements?

Only Conclusion-I

(@)

Onlyl' Conclusion-II

(b)

)
Neither Conclusion-I nor

Conclusion-II

(c)

Both Conclusion-1 and

Conclusion-II

(d)

B L - / "'__\“
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33. Two Statements are given followed by two
Conclusions :

Statements :

All cats are dogs.

All cats are black.
Conclulsion—I : )

All dogs are black.
Conclusion-II :

Some dogs are not black.

Which of the above Conclusions
logically  follows /follow  from the
two given Statements, disregarding
commonly known facts?-- - - -.
A ) |

(a) Only Conclusion-I

(b) Only Conclusion-II

(c) Neither Conclusion-I nor

Conclusion-II
(d) Both Conclusion-I and

Conclusion-II

34. Consider the following sequence of
numbers :
51473985726315
863852243496

How many odd numbers are followed by
the odd number in the above sequence?

(a) .5
(b) 6
(c), 7 i

(d) 8

[P.T.O.
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@aim:;%ém%@_@@iﬁ’é? &X ”3@

(b) € 3,65,000 2 |

(a) 5 }7/ Z{' Ag%ﬂ ;

() 11 1

(c) €3,70,000 b

v (c) 12 @D i x:?’%

@ 13 + (d) ©3,75,000 o

(3) 2

HGY-D-LKUV/59A % 22 ,\:{
M
Z



35.\A is 16th frofn the left end in o row of 38. Let be the volumes; m, n be the
oys and V is 18th from the P 2 ot two metallic cubes P and Q

is 11th from A towards the right and respectively. Each side of Qis two times
from V towards the right end. How thaIt’ of P an;i mass of Q is two times that
mayy boys are there in the row? of P. Let u=m/x and v=n/y. Which

one of the following is correct?

right end,

o 42 (@ u=4v
(d) Caripot be determined due to (b) u=2v
insufficient data

(c) v=u
36. Three Statements S1, S2 and S3 are
given below\ followed by a Question : (d) v=4u
S1: Cis younhger than D, but older than
SieRe ' f h d th
- Di 39, The average age of a teacher an ree
] .13 the Yldest: students is 20 years. If all the three
S3: A is older\than B. students are of same age and the
Question : difference between the age of the
Who among A, B, C and D is the teacher and each student is 20 years,
youngest? , ‘ then what is the age of the teacher?
b Y
Which one of the ‘following is correct in
respect of the abovb Statements and the (@) 2opycars
Question? _ (b) /30 years
(@) S1 alone is sufficient to answer the
Question. {c) 35 years
(b) S1 and S2 together are sufficient to
answer the Question. (d) 45 years

c) S2 and S3 together are sufficient to
answerythe,Question. 40. A person bought a car and sold it for
¥ 3,00,000. If he incurred a loss of
20%, then how much did he spend to

(d) S1 and S3 together are sufficient to
answer the Question.

[ P.T.O.

buy the car?
37. How many integers are there between

1 and 100 which have 4 as a digit but (@) ¥ 3,60,000
are not divisible by 4? )
@ 5 (b) 3,65,000
(b) 11 (c) ¥ 3,70,000
{c 12

(d) ¥ 3,75,000
(d 13
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Pt 6 (o:) wwiei 3 forg 3w

M Ry 7 wtw afredet A af R o ¥ A
M Ay ¥ I AR T F 9E I
FI9 T whedd W A s B =R

ufedz—1

Wfm e 1641 waEd F Ioad F geeh ww efm
iR | e Fe g o, e B owmfie 194t
T § wg fama 32 el B 9wl ¥ @ yfy A
U wHdl # farefa gffem @ ) stawe-awh
79 @ amm gpfa: sur @ F ®9 15 9 w AR
T N A T ¥ R IEH OF geerER e, we
AT F I ), S angafies Wi A1 wF Faw
"ET5EIvARl %89 (Phytophthora infestans)’ 3
R < w9 # fiaa A eEga = R 1845 A @
qraF FaF & A 3 TR em § e ey W
fe ik 9 vy & o 9w @i S F T
FX fea1| a qfomrEEy gu sk 3 w5 i @t
=1 9R @ o Tt fopam) ;

a1. Freffa & ¥ - o Rde & wiw
|V T WaATTH 90T FHAT &1

(@) Tt faehl urey 1 forefl @ A wwifere
7o 39 E e

el 2w F wum @ % w9 H e S
2 Al T, U wEEl B @ T
GRezil

(b)

TRl ¥ o waF GEA B w2 el A
b @ o o e 7l 1

(c)

foreh wmiht @ wa W ol 3 sy
T 2

(d)
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-l

4tlon® for the following 6 (six) items :
i {2e

e jollowing five passages and answer
¢ that follow. Your answers to these

| \
[Z:iﬂs Sho}lld be based on the passages only.
1 \

\
\

\

S anish shipa in the late 16th century first
bfought the p&?t? tuber from South America to
ope whereb¥, 7 the early 19th century, it
4 become a rehable backup to cereal crops,
articularly in jchc cold, rain-soaked soils of
reland: The Irish were soon almost wholly
dcpcndcnt on the potato _as their staple food.
% they were |planting primarly ’ one
rodigion® variety, the ‘Lumper’ potato, whose
genetic frailty would be cruelly exposed by the
ungus ‘PhytoP hthora infestans’. In 1845, spores
of the deadly fungus began spreading across
{he country, destroying nearly all the Lumpers
in its path. The resulting famine killed or
displaced millions.

qead

Passage—1

41. Which one of the following statements

pest reflects the critical message of
the passage?

(a) For introducing any foreign plant
into a country, the soil and climate
conditions of that country should
be suitable.

(b) As a staple food of a country, tuber

crops like potato cannot replace

cereal crops.

(c) Some of the fungal infections of

plants cannot be prevented or

stopped from spreading across
large areas.

(d) Relying on a homogeneous food

source is not desirable.
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India is at once among

obal economies an _ _ -
ilumbcr of malnourishcd children 11 the world

i .tion is not
There are regions e anross o
the exception put the norm- n

country, malnutrition is the cau'se of dcal.qth ;c;:;
roughly half the 1-3 million children W ;)h °
before their fifth pirthday each year. Even thos

i who survive suffer perm
::;1 dg:rlnage that has already beefm done t;)1
their bodies and minds from not gettmg cnougd
of the right Aroun
44 million children under
makes it harder for them to learn in school and
subsequently living as adults. Their
lifetime earnings potcntial is almost 2 quarter

less than that of their healthy peers.

42. With reference to the above passage,
which of the following is/are the most
rational and practical implication/
implications?

1. India’s Public Distribution System

should be monitored by the Union
Government.

Girls should be encouraged to
delay marriage and first pregnancy.

3. Mothers should be encouraged
to breastfeed their children
immediately after birth.

The supply of safe drinking water

and proper sanitation facilities to all
should be ensured.

5. Authorities should ensure
vaccination as prescribed.

Select the correct answer using the code
given below.

(@ 1,2,3 and 4
(b) 2,3,4 and 5
(c) 1 only

(d) 3 and 5 only

the

{P.T.O.
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Passage—3

. pulse varicty 'PUSF:I Arhar 16' has the
r wﬂtial to bf: grown in the paddy-growing
po ons of punjab, Haryana and Uttar Pradesh
of " centually in all of India. Its yield (about
aﬂoo kg/hcclﬂrc) will be significantly greater
20 nose of the existing varieties and because

Fh.a:i;c will be uniform, it will be amenable to
'u’cchanical harvesting, an attractive feature for
armers in northern India who currently use
his technology .for paddy. Most important,
Arhar straw, unlike pad_dy straw, is green and
an be ploughcd bau‘:k into the soil. In paddy
raWs the problem is the high silica content,
which does not allow for easy decomposition.
i the case of Arhar, the farmer, even after
combine harvesting, just needs to run a
qotovator to cut the leftover straw into pieces,
+hich can be ploughed back and will
decompose Very fast. All this is difficulf with
eftover paddy stalks that cannot be easily
salvaged or ploughed back. Farmers, therefore,

choose the easiest option of simply burning it.

43. Which of the following are the most
rational inferences that can be made
from the passage?

1. Farmers’ income will be higher with
pulse cultivation than with paddy

cultivation.

2. Pulse cultivation causes less
pollution as compared to paddy
cultivation.

3. Pulse straw can be used to improve
soil quality. ; ’

4. In the context of northern Indian
agriculture, paddy straw has no
usefulness.

5. Mechanized agriculture is the main
cause for stubble burning.
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Select the correct answer using the code

given below.

(@ 2,3and5
(b) 1,4 and 5
(c) 2 and 3 only
(d 1 and 4 only

Passage—4

In India, authorities always look to store t-hc
maximum amount of water in reservoirs during
the monsoon season, which is then used for
irrigation and generation of electricity during
the summer months. It is an internationally
accepted practice that the water level of a
reservoir should be kept below a certain level
before the onset of monsoon season. This is so
that when monsoon rains come, there is space
to store the excess rainwater and also so that
water can be released in a regulated manner.
But the authorities store the maximum amount
of water in reservoirs even before the close of
the monsoon, only to ensure greater electricity
generation and irrigation.

44. With reference to the above passage, the
following assumptions have been made :

1. High risks involved in holding
maximum water in reservoirs are
due to our over-dependence on
hydropower projects.

2. Storage capacity of dams should
not be fully used before or during
monsoon season.

3. Role of dams in flood control is
underestimated in India.

Which of the above assumptions is/are

valid?

(@ 1 and 2 only
(b) 2 only

(c) 3 only

(d 1,2 and 3

[ P.T.O.
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Passage—5

! d I
Ecoﬂomic liberalization in India wals shapeq
the
ties
‘eEm development
objectives: Thus, there were limitationg

lafgely by the economic Problems of
0 sernment than by the €conomic pripy
of the people or by the long-
in
Conception and design which haye | beca
subsequenﬂy- validated by €Xperience. Jobless
growtth persistent poverty and rising inequality
qave mounted as problems since economic
jperalization began. And all these years later,
pur quiet crises confront the

economy;

agriculture, infrastructure,

industrialization
and education as constraints on the country’s
juture prospects. These problems must be
resolved if economic growth has to be sustained

and transformed into meaningful development.

45. Which of the following is/are the most

rational and logical inference/
inferences that can be made from the
passage? L

1. It 'is essential to rethink and

redefine the economic role of the
State in the quest for development.

2. India has not made cffective
implementation of its policies in
social sectors nor made sufficient

investments in them.
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Select the correct answer using the code
given below.

{a) 1 only
(b) 2 only
{c) Both 1 and 2

(d) Neither 1 nor 2

46. With reference to the above passage, the
following assumptions have been made :

1. India’s economy needs to be greatly
integrated with global economy so
as to create large number of jobs

and to sustain its growth
momentum.
2. Economic liberalization would

cause large economic growth which
would reduce poverty and create
sufficient employment in the long
run.

¢ Which of the above assumptions is/are
valid? '

(@) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

[P.T.O.
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2. 20% 3R 10% $ wHiw gz o age () @’L b8 g | |
10% a1 9 1 TH . ' b |

3. WEd 10% {a1 W F PAA G (b) NOJM 1
20% 3R 10% 1wl g2

(@) TEF * T Faer 1 wa@ =
Rl . .w@m

(b) TEF % ToU Seawr 2 g =07 Rwey
21 ' ‘
50. T/ # S-dt wa@ =) de &7
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(d) TEF ¥ fg wft fieey @uE w9 @ {a)(E) 4 Q\
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48. AR ZTF % 901 1 A 26 TF . e m (L LY .
T T 1 4R GHI = 1578 3R D ?.:912/ (4) | o

~— b
{1133

#, 91 ABC foruss srer 27

|23 LN ]
(a) 492 4 ‘ '

CRORATK S
(b) 468 - N
(c) 262
1—2

«(d) 246 (@) (3) 3¢
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7. A shop owner offers the
discount optiong on an .
customer : ticle to

L]
1. Successive digeq

unts of 20°
10%, and then pay g serv'/o and
of 10% 8. tax

Pay a se:rvice tax of 10, first, then
successive dis '
e counts of 20%‘ and

Which one of the following is correct?

(@) 1 only is the best option for the
customer.,

)

(b) 2 only is the best option for the
customer,
L )|

(c) 3 only is the best option for the
customer.

(d) All the options are equally good for
the customer.

48. The letters from A to Z are numbered
from '1jto 26 respectively. If GHI = 1578

and DEF = 912, then what is ABC
equal t'o?

(@ 492
(b) 468
(c) 262

(d) 246
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49, What is the missing term @ in the
following?

‘i ACPQ: BESU ::'MNGI : @

(@) NPJL

(b) NOJM

(c) NPIL

(d) NPJM

50. What is the largest number among the
following?

(@) (%)6

[ P.T.O.
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@ 1% m @)%
g7
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B
(c) 11 97
i RE
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52. M sfwgl w fem Hiftmg
= ATHRY g
1911-1921 481 e
1921-1931 464 o
1931-1941 452 312
1941-1951 39:9 27-4
1951-1961 41-7 228
1961-1971 41-1 189
1971-1981 37.1 148
fora wmmafy § wrpfeen S IDCT

7

fa) 1911-1921

(b) 1941-1951

(c) 1961-1971

(d) 1971-1981
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51. what is the greatest length x such i
at

1 m and 83 i
31 4 ™M are integra] multiples

of x?

(a) 1% ‘rn
(b) 1]3 m
() 14 m

(d) 1% m

52. Consider the following data :

Year Birthrate Death rate
1911-1921 48-1 355
1921-1931 46-4 363
1931-1941 452 312
1941-1951 399 27-4
1951-1961 41-7 22:8
1961-1971 41-1 189
1971-1981 37-1 14-8

For which period was the natural
growth rate maximum?

, 3
(@) 1911-1921
(b) 1941-1951
(¢) 1961-1971

(d) 1971-1981

Tos; ;“‘fv—,—‘*fv
HGY-D-LKUV/59A
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33

fbj- ’ilr/v
31

53. The recurring decimal representation

1-272727... 1s equivalent to

o (@) 13/11

. (b) 14/11
(c) 127/99
(d) 137/99
54. What is the least four-digit number
when divided by 3, 4, 5 and 6 leaves a
remainder 2 in each case?
(a) 1012
(b) 1022
(c)f 1122

(d) 1222

55. In adult population of a city, 40% men
and 30% women are married. What
is the percentage of married adult
population if no man marries more than
one woman and no woman marries
more than one man; and there are no

.. Jwidows and widowers?

| (a) 33%%

(b) 34%

(c) 342%
(d) 35%

[ P.T.O.
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56. What is the

remaind
51x27x35%62x% 75is divid Pietac 59. In a class, there are three groups A, B
ed by 100? and C. If one student from group A and

(a) 50 two students from group B are shifted
to group C, then what happens to the
average weight of the students of the

(b) 25 class?

fc) S
(a) It increases.

(d 1

(b) It decreases.

57. A sum of ¥ 2,500 is distributed among

X,Yand Z in the ratio 1L: 3. 5 :
atio 5:3:¢- What is (c) It remains the same.

the difference between the maximum
share and the minimum share?

(d) No conclusion can be drawn due to

(a) € 300 insufficient data.

(b) ¥ 350

(c) ¥ 400 60. How many different sums can be formed
' with the denominations ¥ 50, ¥ 100,

(d) ®450 . ¢ 200, £500 and ¥ 2,000 taking at

least three denominations at a time?

58. For what value of n, the sum of digits in (a) 16
the number (10" +1) is 2?

(a) For n=0 only (b) 15

(b) For any whole number n
(c) 14
{c) For any positive integer n only

(d) For any real number n (d) 10

{7
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pirections for the following 6 (six) items

Read the following five passages and answer
the items that follow. Your answers to these
items should be based on the passages only

Passage—1

Bank credit to the industrial sector has started
shrinking. Its decline has been g serious
concern as credit growth is essential to revive
investment. The problem'’s origins lic in the
incomplete reforms of the last 25 years. An
institutional change that should have followed
the 1991 reforms should have been setting up
of a resolution corporation for banks. In a
market economy with booms and busts, banks
should be allowed to be set up and to fail.
Today, we cannot shut down banks because
there is no proper system to shut them down,
Weak loss-making banks continue to need more
capital.

61. Which one of the following is the most
logical and rational inference that
can be made from the above passage?
(a) Indian banking system is not able

to help the country in its economic
growth.

(b). Economic reforms that started in
1991 have not helped in improving

the economy to expected levels.

(c) India lacks the institutional
mechanism to deal with the failure
of banks.

(d) Encouraging the foreign
investments in our industrial

sector is a good alternative to this
sector’s dependence on banks for
credit.

Passage—2

India has tremendous potential for solar
energy. We all realize that we have to stop
burning fossil fuels to meet our energy needs.
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But certain renewable resources are still going
through their cost curves and learning curves
to get the required amount of output. The
Indian Government has strongly committed to
its targets of reducing emissions by 33 per cent
by 2030, and towards this it has initiated a
strong push towards a gas-basecd economy and
has also invested heavily in renewable encrgy.
However, busincss houscs are wary of investing
too heavily in renewable energy at a time when
the technology is not yet ready.

62. Which one of the following is the most
logical and rational inference that
can be made from the above passage?

(a) India’s commitment to reduce
emissions by 33% is unlikely to be
achicved.

(b) India should import gas rather

than invest in renewable resources.

(c)

Getting renewable resources to
market too soon may be costly.

(d)

India should put in more efforts in
the exploration of natural gas.

63. With reference to the above passage, the
following assumptions have been made :

1. Governments often provide
inefficient and costly subsidies for

technologies that may not be ready
in the near future.

2. India’s commitment of reducing
emissions by 33% by 2030 shall be
on the basis of gas-based economy.

Which of the above assumptions is/are
valid?

fa)
(b)
(c)
(d)

1 only

2 only

Both 1 and 2
Neither 1 nor 2

[ P.T.O.




gfreds—3
ST Har, W s @ fm 2 SEE e
%mﬂm%%mmmwmﬁﬂ
Hafya @ fren) wiaffa frm o w Rrd I D
4 F S T A o A F g wRAd s
SHE A I agd W wk | Duwd =g 5
foredz #0 F Rg “anfeas %0’ =1 3wdm F@ & e
mmm%wﬁ%mﬁﬂﬁmamm
¥ R, S ey A F amEm ¥ aE B W A
IfEd] R 3w = wEd ¥, S 3@ 9y @)
wiae § 8 are amEl | w9 @y § wen a2
4 s wErmmensl # gy i @51 fwr | gha
A EE R 3R T ST ) gere w9 8 giafla w0
%1 Trfafy =1 gom forn s v %, 58 R wfen
F wuret w9 4 I @1 51 wFA

64. I ui=dT & wef ¥, Prmfafed qdumomd

A T E

1. SfHm g 3 O qrew @ g WS %
TRV 1 SATERrFa 76 3

2. M w9E % g g g S A owd
®Y H T UTHfdF WhE % ®9 F gRafdia
ferar < wewal @ fore@ dut A gala
Tl %k WY SIEfed B N EgRar
frerdt 21

gE § A FA-W ghavon/gdarend Ay

/87

(@) A 1

(b) FAA 2

() 1R 23H

(d Fd1,7é2

ufege—4 |
TFa-8 @ M A9RTE EYA U4 @R 6 Y 3/
FAL F ftad 20 % wRomm F w9 F wuga € W) wiaad
dn FR-mFE = W T € g TF qmu e ofi §
ol wé ®v A wwen 7 wran, T 91 9fomy g & w4

HGY-D-LKUV/59A

38

gfom g & A F TS
wmm%’wmﬁ%ﬁmﬁ‘

(c)

(d)

g

UM & vm I #, S SR @ e His ,
st & wid enaE wan €, Sg=9e 25 IENON iR
war ¢ 75 “oft IRE A e S wwdar w1 g
] & I T Y AR, SO FA SR TSR w6
A & T, Al o 9@ | oy e T8 g
W & 9@ ¥ W S W v aren Sww, ol |
T, WEER, TR T T A % A I F
i R ge) 78 e el W ¥, b oo |
& et e A g Fuffa w ) egess 25
58 FRIE W % 3ifow I Rqa: T onfie wve
W A s sger wm I § aftfa )
e afet A i @ ¥ afemr H eRy




Passage—3

Genome editing is _different from genome

odiﬁcation. Genome editing typically involves
ding the part of a plant genome that could be
changed t0 render it less vulnerable to disease,
of resistant to certain herbicides, or to increase
Jields. Researchers use ‘molecular scissors’ to
gissect the genome and repair it, which is a

rOCESS that occurs naturally when plants are
ander attack from'diseases and can throw up
hew mutations th§t enable the plant to survive
future attacks. This evolutionary process can
Cﬁ’ectivcly be speeded up now that it is possible
to examine pla;}.t;fl genomes in detail in
laboratories, and create mechanisms through
which the relevant genes can be altered very

fin

precisel)i- g

64. With reference to the above passage, the
following assumptions have been made :

1. Genome editing does not require

the transfer of genes from one plant

* to another., - |
2. Through géLri)omc editing,’_,’“the\
.chosen genes can be altered

precisely in'a manner akin to the/
natural process that helps plants to
|

. adapt to the environmental factors. -

Which of the )abéwe assumptions is/are

v\aflid? el g 1% 4
(b) 1 only
(b) 2 only

(c) Both'l and 2

(d), Neither 1 nor 2
)
Passage—4%

Many | people - understand  the
between solid wasté-management and health in
terms of the consequences of unattended heaps

of dry garbage which pecome home for flies

and other.vermin, ) Howq\vcr,

~ 44

connection
4

{ }' ‘
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there is another
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that is,

crstood,
waste

i 11-und
aspect that 18 not W€ ; ' :
what happens when unscientific so'hd e
management combines with poor drainage

:nto drains which
dumping of untreated sewage 1 | !
s m water during rans.

are meant to carry stor .
The result is cho ins which arci Sillltli r?gf
stagnant water bre es, T

in the spread of water-

eding mosquito
borne diseases.

context of India, which oneé 01.' the
nts best reflects' the
f the passagc?

ge networks
ge and

65. In the
following stateme
critical message ©
(@ In India, the draina

are not separate for sewera

storm water.

Urban local bodies do mnot have

enough resources, and legislative

authority to deal with the problems
management.

Solid waste management should be

integrated with the maintenance of

drainage and sewerage networks.

Bad management of solid waste

and sewerage systems by our
alities is the reason for

(b)

of waste

(c)

(@)

municip
drinking water shortages in our
cities.

Passage—5S

In Part III of the Constitution, which assures
people certain fundamental rights, Article 25
proclaims that “a]l persons are equally entitled
to freedom of conscience and the right freely to
profess, practise and propagate religion”. What
people fail to notice is that this proclamation
is prefixed with the words “subject to public
order, morality, health and to the other
provisions of this Part”, which set conditions
precedent for tlrx;c legal protection of religious

practices of any -ommunity. The closing words '
of this px}cfat;ory rider in Article 25 virtually
constitute a §'ubordination clause placing,other

{f

[ P.T.O.




u 'I‘
m%ﬁam?lﬂmﬁmaﬁaﬂﬁﬁﬁm% 68. TF =Iqc H Fd A hl 20 e A R} gy
AT i i ; 7 AR 4 R AEn A A D ey

Ea A

ngﬁﬁ?mmuﬂﬂmm%ﬂmm% 3N 7@ B A I @ wEn avE o & &
s Wuﬂ%mvﬁwn%f%ﬁ,mama; %Iﬁﬂ'@ﬁm;ﬁ43ﬂ'€{ﬂﬁ13ﬂ3{ﬁmﬁ'
5 sy 0 0 1 o 3 e ) g ol & i 5 B I @ T A
W,Wﬁf@%mmmﬂaﬁaﬂﬁaﬁm Sl &1 SHfom v F 73 A R wm g g

1 7 @ IIgAE R Yy B
bl

4

ss.mqﬂﬁzmyaﬁaa;mﬁmf (@) 4:1 y —R @
TR ' (b) 5:1 & — A g

(@) T i ¥ uftfe wmret 4 ey e () 16:9

el wem) = B 3+Y

@ 17:8 '4;5 )
(b) mmﬁﬁﬁéﬂﬁmmmﬁm | &3 gm F |
FRIAT T e B 69. TF Sga F IqH! 50T Ut % =1 Y

464 911 60 T % 1, Iuw hew @R

(c) TrIieH! i enfiie Tt hfvs st 2:6 95 T & | fooeht < vkt & sge sing

% TR F 7 o I 1 o7 i i

Se 2 Tl

'Brl/ g 122 &7 -

(d) %mtﬁm%mfﬁmwm% %w/ﬁ,{) 49

FE A ufwfam 5 7~ b a1 o 12-8 19

\ —/ B 'f‘ |
R =V e >4

O (d) 49 2 hr B
67. = DELHI' % ®ft 3l &1 wim 5 g OQD@'

fPaa fafm 5-a1ad W (Rreem <18 o @ |
RERVEE Rk B iR 70.-%%9%1%@11@1325%@3&;% :

-

W 37 B % 3t 1% o g 87 . m:@ﬁ?l,200ﬁ6ﬁﬁﬁiﬁﬁd
B . EE @l T R S w1 AR ey
(@) 24 P o ta T RS I
(b) 18 € L H (@) ¥30 “ o _f_gj,
E ! L v (b} ¥ 40 gO & "4 ]
feh .12 BL A % ) €50 2% |
4 L 1
s (d) 6 \‘)‘ E, L (d) ¥e60 v‘(}& +O_Q-—— . 5
/ ,2/00 1
) 25
HGY-D-LKUV/59A 40 R \ 1 VLL\, ,




; ¢ J.

~ fundamental rights Mentioneq :
> 44 e

. and above the right'to ‘T?Iigiougfm Part 111 over

those other funddmen‘tal,ﬁghtsmedom. Among

is the ri

person or group of
* religion alone.

66. What is the most 1o
the above passage?

i
|

(a) State shall not interfere with the '

religious affai;s) of the citizens

(b) Reli‘gi'ous freedom
Constitution s
,intle:x‘*vention.

under the
open to State

(c) Religious freedom of | the éitizcns

is not covered under fundamental
_rights.

(d) Religious practices of any
community are immune to State
laws. : ‘ ',

?" s [} ,_! ‘/‘
/ . 9 L

67. How many 'd_iffcrcnt S-letter words (with,
or without meaning) can be constructed
using all the letters of the word ‘DELHI’

so that each word has to start with,D '

and end with I?

(@) 24

(b) 18 Y.

) 12 ; | X
@ 6

gilcal inference from

!

It

68. A bottle contains 20 litres of liquid A.
4 litres of liquid A is taken out of it and

replaced by same quantity of l.iquid B.
Again 4 litres of the mixture is t_akcn

, out and replaced by same quantity of
| ' liquid B. What is the ratio of quantity of
liquid A to that of liquid B in the’ final

mixture?
(ag 4 :1
(b) 5:1
{c) 16 :9
(d 17 :8

69. The average score of a batsman after
his 50th innings was 46-4. After 60th
innings, his average score increases by
2:6. What was his average score in the

., last ten innings? ‘
L
b @ 122
(b) 91

(c) 62

/ (d) 49

/ TO. As aresult of 25% hike in the price of rice
- i per kg, a person is able to purchase 6 kg
less rice for ¥ 1,200. What was the
original price of rice per kg?
(a) ¥ 30
(b) € 40
) €50

(d) €60

[P.T.O.
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71. A Person X can complete 209 of work
in 8 days and another person vy c;n
complete 25% of the same work in
6 days. If they work together, in how
many days will 40% of the work be

completed?
(a) 135 (b) 8
(c) 10 (d) 12

72. A car travels from a place X to place Y at
an average speed of v km/hr, from Y to
X at an average speed of 2v km /hr,
again from X to Y at an average speed of
3v km/hr and again from Y to X at an
average speed of 4v km/hr. Then the

average speed of the car for the entire.

journey

(@) is less than v km/hr

(b) lies between v and 2v km/hr
(c) lies between 2v and 3v km/hr
(d) lies between 3v and 4v km/hr

73. Consider the following statements :
1. The minimum number of points of
intersection of a square and a circle
is 2.
2. The maximum number of points of
intersection of a square and a circle
is 8.
Which of the above statements is/are
correct?
(a) 1 only
(b) 2 only
{c) Both 1 and 2
(d) Neither 1 nor 2
74. A man takes half time in rowing a certain
distance downstream than upstream.

What is the ratio of the speed in still
water to the speed of current?

fag 1:2 (b) 2:1
fcg 1:3 (d 3:1
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75. How many pairs; of natural numbers are
there such that the difference of whose
squares is 637
(@) 3 (b) 4
(c) 5 (d) 2

76. Which one of the following will have
minimum change in its value if 5 is
added to both numerator and the
denominator of the fractions 2/3, 3/4,
4/5 and 5/67?
fa) 2/3 (b) 3/4
fc) 4/5 (d@ 5/6

77. A digit n> 3 is divisible by 3 but not
divisible by 6. Which one of the
following is divisible by 4?

(a) 2n (b) 3n
(c) 2n+4 (d 3n+1l

78. If 1 litre of water weighs 1 kg, then how
many cubic millimetres of water will
weigh 0-1 gm?
(@ 1
(c¢) 100

79. A vessel full of water weighs 40 kg. If it
is one-third filled, its weight becomes
20 kg. What is the weight of the empty
vessel?

(a) 10 kg
(b) 15 kg
(c) 20 kg
(d) 25 kg

80. A frog tries to come out of a dried well
4'5 m deep with slippery walls. Every
time the frog jumps 30 cm, slides down
15 e¢m. What is the number of jumps
required for the frog to come out of the

(b) 10
(d) 1000

well?
(a) 28 (b) 29
(cp 30 (d) 31

~[P.T.O.
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